BN % £577 k2 %
Nature conservation
efforts

| Costs (1 resource) and
|| captures (1 CO2) per turn.

Deforestation for
agricultural purposes

| Produces
|| (1 resource & 1 CO2) per
| turn.

Improve cropping
techniques

| Produces (1 resource) and
|| captures (1 CO2) per turn.

Subsidize use of
fertilizers

| Produces
|| (1 resource & 1 CO2) per

PO . 85770 b
Develop new crop
varieties

| Produces (1 resource) and
|| captures (1 CO2) per turn.

| Resistant to drought.

BN % £577 %
Improve irrigation
systems

| Produces (1 resource) and
|| captures (1 CO2) per turn.

| Resistant to drought.

Suppor organic
farming

| Costs (1 resource) and
|| captures (1 CO2) per turn.




